o0O0Ooooog #20

1 0000

1.1 2000

00 1.1 AD0OUO0O0OD0O0O0O0 AxAQOO AQDOODOOOADOO 2000 (binary operation)
oboon

012 (1) A={¢}00000000000000000000AO0000OO0 AxA-=
{(e,a)} 0000000000000000000200000(a,a)— 0000000
ooooo

(2) A={e,b}0000020000000000000000000 AxA = {(a,a),(a,b),(b,a), (b,b)}
0000000000000200000000000000 «00 000000000
0000000000000 24=1600000

X={0,1}00000X0000 1600000
©0(0,0) =0, 0(0,1) =1, ¢o(1,0) =1, ¢o(1,1)=0
000000 0 bit0 00000000 0ODOODOO0OO
©1(0,0) =0, ©1(0,1) =0, 1(1,0)=0, ¢1(L,1)=1
000000 g O0bit0000000DOO00ODOODOO0OO
max(0,0) =0, max(0,1) =1, max(1,0)=1, max(1,1)=1
00000 maxOOOOOOODOOODOOODOOODOOO
min(0,0) =0, min(0,1) =0, min(1,0) =0, min(1,1)=1

boi00Od0minO0000D0O0O0O0ODOO0OOOOODOOO

bit 00O O0OOO0ODOCO00OObtOO0ODOOOO0O0O0OObtO0OOODOO0ODOO
ooooooooooooo

oooo 11 A={abc}0000A02000000000O00000O7

v:AxA—-A0000D020000000000 a,be A00000p(e,b) e ADDODOOO
O0000000¢(a,b)=a-be AD00O0OO0O0ODOOO

oo0oob20000000 e-b00000D0O00MMOO0OO0e+b0D000000000O
gomm

AQ0OD 2000000 AxAUOO AOODODOOOOOOOOOOOOOOOOOOOOOO
goooobooooooobooboooooobooobooobbooooooooooooobooo
gboooobooboooobooboobooooon

0000 000 abcecAD0000a-(b-c)=(a-b)-c000000



ooooo0ooboooobooooobboooDooobbo ODboooUobOoOoLieoonDO
gboooobobooooboooobobooog

00 1.3 00000000000200000000000000 (semigroup) 0000
ggbgoboboobooboobooboobobooboanoo

01.40000A={ab} 00000

a-a = b
a-b =0
b-a = b
b-b = a

gobooboboobooobooboobo
(b-a)-a=b-a=b

goo
b-(a-a)=b-b=a

0000(@(-a)-a#b-(c-e) 0000000000000000

0000 1.2 A={eb}0000A0O0000COOOOOOOOOOOOOOOOOOOO

uboooobooobooobooboobobooooOooooboooboooooboOoooooobooooon
gboboooooooooobooobooboooog

gooobooobooboobooobbooboooboooooobooboOogobDoooboooo
gbooooo

oboooooboob ob 10bO0O000O0bOO0O0DbOOobOOoOOoOobOOobOOoooboOoboonog

0015000 acA0000a-e=e-a=c0000000 ecAODO0OOOOOOOOO
00 (unit element) 0000

0d 116 000D O0OO0O0O0ODDODOOOOOODOO
oo el,eo O OODDOOOOOODODOOOOONO
€1=61~€2=€2I

00 17000 ec AJDDUO0OO0O0O0Oee AOOOO ad =da=e0000 o 0 OO0

(inverse element) 0 0 00O
od 18 000b0oobo0obooboobobooo
oag a,a 0 o 0000000 O0OOOODOOO

a1 =ay-e=a;-(a-as)=(ay-a)-ay=e-ay=ayl

0000000000000000000000eO0000 ¢ '000000000O0000D0



1.2 [

0019 GO02000000000000000D00D00000DOO0DODOOODODG OO
(group) 0O OO

(1) boOoOoUoooOoOoooooo

(2) 000000000

(3)G000000000000O000DOOUO0OO0

g 1.10

(1) z0OOOOOOOOUOQUOOOOOOOOOOROOOODOOOOOCOOOOOOOO
ooooooO0 +0000000000Z,Q,R,COODODOOO

2) Q*=Q—-{0},R*=R—-{0},C*=C—-{0} 0000000000000000 0000
0000000000000 000000000000000000 000000000
00000000 -00000000000000

3) M,(R)0OODD0000»nO00000000000M,(Q)00D0000000 000
000000000GL(m;R)={Ae M,(R)|detA#£0}00000GL(n;R)00000
00000000000000GL(n;Q)={A€c M,(Q)|det A#0}00000GL(n; Q)
0000000000000000000

4) P,={1,---,n}0 100 n0000000000000O0O0OO0OO0OO0OOOOOOOO
000 S, 00000000 (symmetric group) 0000

000o00000oO0oO0oO0oU0o0oOoUoOoUOoooOoOoOoO ses, OO0O0OOOOOODOO
0000000000000 o7 tes, 0000

S, 000 P00 P, 00000D0COO00DODOOOODOOOODOODOOOODDOOO
000000000000000W0000000000000s 000000 ¢00ODOO
googoood

S, 00000000000
0000 1.3 ZOODOOODOODOODODOOOODODOODOR*O0O0OO0OO0DOOO0OODOOOOOOO0O

0000 1.4 00000000000 A B,COO000000 [(AB)C =A(BC)]000

0000000000000000000000

(1) GL(2;R)000 GL(2;Q)00000000000

(2) M,(Z)DO0O000000 n000000000000GL(n;Z) ={A€ M,(Z)| det A#0}
000000000000000000 GL(%Z) 0000000000000

oooo 1.5 S, 0000000000000

00 111 (1) 00 A0OOUD 2000 -00000 a,beA000O0 a-b=>b-«0000000
0«00 b0O0O0O (abelian,commutative) 0000000

()pOoO000O0000000000000e 0000000 +O0000000000000O000 ¢-70000000
ol roooooobOOOOOO0OO0OO0OOOODOOOOODOOOOODODOOODOOOOO



2) 0 GOO0D0O0O0O00OOOO0DOOO0O0OOO0 (commutative group) 000000
group
(abelian group) 000 O0GUOOOOOOOOGOUOOO +000000000GUOO g
obobo —gobOoooooono

00 112 GO00000O0GUOODO0OO0 HOOGOOODODODOODODOODOODOOoODOoOOoOH
0 GOOO0 (subgroup) DOOOOOODO

H<G

0000GU00000000000n {e} 000000 GUOUODOOODOOUOOOOOUOOOO
gpoood

0113 (1) 00DO0OO0OO0OO0ORO COOO0OO0O0O0O0OO0OQO R, CO00O0DOOOOZO Q,R,
COOO0OUOO0UOOmOOOUOOO0OOmZ={keZ|kOmOIOOOOO }00000OmMZ
OzOoOooOoodoooood

mlZ <7Z<Q<R<C

gooooo
(2) DOODODOOR*O0 C*O0O00000O0O0Q" O R, C*U0000O00UDOOOO
Q" <R*<C*
googooo
(3)
SL(n;R)={A e M,(R)|detA=1}

SL(n;Q)={Ae M,(Q)|detA=1}
SL(n;Z)={Ae€ M,(Z)|det A=1}

gobobobooboo11bo0bgod nOoobobbobboboaoboan

SL(n;Z) < SL(n; Q) < SL(n;R) < GL(n; R)
SL(n;Q) < GL(n;Q) < GL(n;R)

ooooog
oo00Db 16 mzZOOODOOOOOOO

0000 1.7 SL(2;Zz)D000O0O0OOOOOO

gboooooboboboboboboooooobobobobobooooooobooobobon
gboooobooboooobobooooobooooboobooobooono

gooo *1.8 SL(n;Z)OO0OOD0OOO0OO0ODOOO

00 114 00000000 GUOOOOHFO GOO0OOOOUOOOOUOHFOOOOO
00o00ooooooooooo (1), (2)ooooooooooo



(1) 000 a,be HODODOO a-be H

(2) 000 ac HOOOO a'eH

00 HODOOOOO (1),(2)000000(1),(2)000000000000000000
000000000000HO000000D00000000000F 00000 GO000000
00000000000000000(R)000000000000000000000 (1)000
e-al=ecHOOOODODOOOOODDODOOOOHKOOOOOOOOO N

gbobooooooooooboboooboobooobooboboobooonoo

00 1.15 00000000l GOOO0O0OHO GOO0OO000ODO0O0O0OOO0O0OHOOOOO
000000000000D00000 (x) 00000000000
00000 (x)000 a,be HOODODO a-b"'eH

gboob 19 00115000000

1.3 2000

00 1.16 ADODDO0O0OUOAxAUDODOUOD ROUOODUDODODOODDDO AOO 2000 (binary
relation) 00 00O
RO200000000(e,b)0 ROOOODOOOOOUDO (a,b) e RCAXxADODODOODDOODO
Oae~b0000000000000 (0,b)0 ROODODOOOOOO (a,b) ¢ RCAXADD
000000 exbOOOOOOOOO
AO0200000AxAQ0000OOOO0ODOOOOOOOUOO(A,R)ODOOOODOOOOO
00000 ~00000(A,~ 000000000

0117 A={1,2,3}0000
(1) R={(1,2),(1,3),(2,3)} 0000 00000 ~00 a~b00000 a<b0000000

(2) R={(1,1),(1,2),(1,3),(2,2),(2,3),(3,3)} 0000 00000 ~00 a~b00000
a<b000e<b0000000

00 1.18 (A,~)0 A0O0O 20000000

(1) 00D a€eA0000 a~a0 000000000 20000000 (reflexive law) O
goooood

(2) 0 a~b000 b~e 0 O000O0UOO0OOO 20000000 (symmetric law) 0000
oooo

3)0a~bb~cO00 a~cO O0O0O0O0OO0OO 20000000 (transitive law) 00
oooooo

4)0a~b00b~al000 e=00000000000200000000 (antisymmetric
law) 000 O00ODDOO



(5 00000000000 DD0OU00O00O0OUDOO0 200000000 (order relation) O
000000000000 e~b00000000e<b0000 «<£b00000000
oboooooooo

(6) 00000000000 O0OOODOOOOO0OOO0OD 200000000 (equivalence relation)
oooo

(7) (A,~) 000 AOD0ODUODO0O0OUOOee A0OUOOOeU0OOOOOOOOOO
E(a)={zeA|z~a}
0000000 e« 0000 (equivalence class) 0 000

00 1.19 00 1.18(7)0000ADDO00 2000 ¢,b00000E(e)=E(® 000000
E(@NE®) =¢p 0000

00 E(@NEM=¢pO00000000000 ceAOOO00O ceE(a)NE(R) 00000
000000 c~a000 c¢~b0000000000000a~cO000000an~c,c~bD
00000 e~b0000000000000b~e00000000

¢0 E(@)D0000000002~a,a~b00000 2~b0000E(e)CEGOOOD
yO E(b) 0000000000y ~bb~a00000 y~aOO0DO0E®D) C E(e) 0000
E(e) CE(M) 00000 EG) CE(e) 000000E((@=E@®p) 00001

AO0OOOO0OOO00OO0OODODOOCOOOO0OO00OOOO0OO0O0OOOOODOOOOoODObOOOOg
00000000000000000000000000AODODOO0DOO0DOOOOoOO {kE;}0O
DDDDA:UEiD[IDDi;«éj[IDD E,NE;=¢p 0000000000 AODOOOOOOO

00000000000 0000000000000 ADOOOOO (equivalence class patition)
gooo
0000 A0DO0OO0O0DOOO0OUOO0OD0O0OO0ODOO0OO0OD {E;} 000000000
O0a,be ADOOOOebO0000000 £, 0000000 a~b00000ODODODDODOOA
gbobooooooooog
goooobooboooobooobobooboboooooboooboooobooooooboobboOoobo
gboooobooboooooboooon

00 1.20 (1) F,00000000C0CDO0O0COOOUOOOE, 000000 a;e€ekF; 00000
O000ae; O E; 0000 (representative) 00 00

(2) 00 ADO0ODO0OD {e,}0000000D0OD0OOOOOOO0OOODOODOOUOOOOOOOO
000000000000000000000000000000000 (complete system
of representatives) 00 0 0000000000000 {«,} 000000000O0OO0OOO
oboooobooooobOoboooobooon

0000 1.10
(1) A={a,b,c}0000ADD020000000000000000

(2) A={a,b,c}002000000000000000000OO0OOOODOOUOOOOOO
oboooobo10000

10



goob 11l 0O0zZOOODO ROOOOODOOOOOODOOOODODOOOODOO
gboooobobooooobooooboboobooboobooooobooo 10000

(1) R={(m,n) €ZxZ|m+n0 5000000}
(2) R={(mn)€ZxZ|m—-n05000000}

(3) R={(m,n)€ZxZ|mnO 5000000}
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